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DO = DATAO * (100 / 100) / GAINO |:> DO = DATAO / GAINO
D1 = DATA1 * (100 / 100) / GAIN1 D1 = DATA1 / GAIN1

DO = DATAO * (100 / 400) / GAINO |:> DO = DATAO * 0.25 / GAINO
D1 = DATAL * (100 / 400) / GAIN1 D1 = DATA1 * 0.25/ GAIN1

SpinE
if (DATA0<15> == 1) { DATAO = Ox7FFF }
If (DATA1<15> == 1) { DATAL = Ox7FFF }
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1010 400
1011 400 DO = DATAO * (100 / 50) / GAINO =) DO = DATAO * 2 / GAINO
D1 = DATAL * (100 / 50) / GAIN1 D1 = DATAL * 2/ GAIN1
1100 50 )
DATAO: ALS_DATAO GAINO : ALS DATAO GAIN
DATA1: ALS DATA1 GAIN1 : ALS DATA1 GAIN /
if (DO ==0) Lx =0

D1 _DO=D1/DO

if (D1_DO < 0.595)
else if (D1_DO < 1.015)
else if (D1_DO < 1.352)
else if (D1_DO < 3.053)
else

Lx = (1.682 * DO — 1.877 * D1)
Lx = (0.644 * DO — 0.132 * D1)
Lx = (0.756 * DO — 0.243 * D1)
Lx = (0.766 * DO — 0.25 * D1)

Lx=0
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